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1.2 References

- IEEE Std. 830-1998

2 Unit test case specification

2.1 Test case specification identifier

<Table 1 : Test Case Identification>

Identifier Input specification Output specification

EDLS_UTC_000_000 | Returned == -1, InputData = {-1, -1, -1, -1, - | Returned == 0, InputData =
1}, sq == -1, PowerStatus == false {0,1,2,3,4,sq=0
/sq==0,Input ={0, 1, 2, 3, 4}

EDLS_UTC_000_001 | Returned == -1, InputData = {0, 1, 2, 3, 4}, | Returned == 1, sq ==
sq == 0, PowerStatus == false
/sq ==

EDLS_UTC_000_002 | Returned == -1, InputData = {0, 1, 2, 3, 4}, | Returned == 2, sq ==
sq == 1, PowerStatus == false
/sq ==

EDLS_UTC_000_003 | Returned == -1, InputData = {0, 1, 2, 3, 4}, | Returned == 3, sq ==
sq == 2, PowerStatus == false
/sq==3

EDLS_UTC_000_004 | Returned == -1, InputData = {0, 1, 2, 3, 4}, | Returned == 4, sq == 4
sq == 3, PowerStatus == false
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/sq==4

EDLS_UTC_000_005 | Returned == -1, InputData = {-1, -1, -1, -1, - | Returned == -1, InputData =
1}, sq == 0, PowerStatus == false {-1, -1, -1, -1, -1}
/sq == 0, Input = {0, 1, 2, 3, 4}

EDLS_UTC_000_006 | Returned == -1, InputData = {0, 1, 2, 3, 4}, | Returned == 0
sq == 0, PowerStatus == false
/sq ==0, Input = {0, 1, 2, 3, 4}

EDLS_UTC_000_007 | Returned == -1, sq == -1, PowerStatus == | Returned == 3
true
/Input = {0, 1, 2, 3, 4}

EDLS_UTC_001_000 | Returned == -1 / Input == Returned ==

EDLS_UTC_001_001 | Returned == -1 / Input == Returned ==

EDLS_UTC_001_002

Returned == -1 / Input == -1

Returned == -1

EDLS_UTC_001_003 | Returned == -1 / Input == 2 Returned == -1
EDLS_UTC_001_004 | Returned == -1/ Input == -3 Returned == -1
EDLS_UTC_002_000 | Returned == -1 /Input ==1 Returned ==1
EDLS_UTC_002_001 | Returned == -1 / Input == -1 Returned == -1
EDLS_UTC_002_002 | Returned == -1/ Input == Returned == -1
EDLS_UTC_002_003 | Returned == -1 / Input == -5 Returned == -1
EDLS_UTC_003_000 | Returned == -1/ Input == Returned ==

EDLS_UTC_003_001

Returned == -1 / Input == -1

Returned == -1

EDLS_UTC_003_002

Returned == -1 / Input ==

Returned == -1

EDLS_UTC_003_003

Returned == -1 / Input == -2

Returned == -1

EDLS_UTC_004_000

Returned == -1, TimerPW == false

Returned == 0, TimerPW ==

/ Input == true

EDLS_UTC_004 001 | Returned == -1, TimerPW == false Returned == 5, TimerPW ==
/Input ==5 true

EDLS_UTC_004_002 | Returned == -1, TimerPW == false Returned == 9, TimerPW ==
/ Input == true

EDLS_UTC_004_003 | Returned == -1, TimerPW == false Returned == -1, TimerPW
/ Input == -1 == false

EDLS_UTC_004_004 | Returned == -1, TimerPW == false Returned == -1, TimerPW
/ Input == -7 == false

EDLS_UTC_004 005 | Returned == -1, TimerPW == false Returned == -1, TimerPW
/ Input == 13 == false

EDLS_UTC_005_000 | Returned == -1/ Input == 0 Returned == 0

EDLS_UTC_005_001 | Returned == -1/ Input == 1 Returned ==1

EDLS_UTC_005_002 | Returned == -1 / Input == -1 Returned == -1
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EDLS_UTC_005_003

Returned == -1 / Input == 8

Returned == -1

EDLS_UTC_005_004

Returned == -1 / Input == -12

Returned == -1

EDLS_UTC_006_000

Returned == -1, Activated == -1, TimerPW
== false, Temp == {-1,-1,-1,-1} / Input == 5,
AlarmPW == false

Returned == 1, Activated ==
-1, TimerPW == true, Temp
== {51_11_11_1}

EDLS_UTC_006_001

Returned == -1, Activated == -1, TimerPW
== false, Temp == {5,-1,-1,-1} / Input == 7,

Returned == 1, Activated ==
-1, TimerPW == true, Temp

AlarmPW == false == {5,7,-1,-1}
EDLS_UTC_006_002 | Returned == -1, Activated == -1, TimerPW | Returned == -1, Activated
== false, Temp == {5,7,-1,-1} / Input == -1, | == -1, TimerPW == false,

AlarmPW == false

Temp == {5,7,-1,-1}

EDLS_UTC_006_003

Returned == -1, Activated == -1, TimerPW
== false, Temp == {5,7,-1,-1} / Input == 9,
AlarmPW == true

Returned == 1, Activated ==
-1, TimerPW == true, Temp
== {-1,-1-1,-1)

EDLS_UTC_006_004

Returned == -1, Activated == -1, TimerPW
== false, Temp == {5,7,-1,-1} / Input == -1,
AlarmPW == true

Returned -1, Activated
-1, TimerPW == false,
Temp == {-1,-1,-1,-1}

EDLS_UTC_006_005

Returned == -1, Activated == -1, TimerPW
== false, Temp == {57,9,-1} / Input == 2,
AlarmPW == false

Returned == 1, Activated ==
1, TimerPW
== {_11_11_11_1}

true, Temp

EDLS_UTC_006_006

Returned == -1, Activated == -1, TimerPW

Returned == 1, Activated ==

== false, Temp == {57,9,-1} / Input == 2, | 1, TimerPW == true, Temp
AlarmPW == true == {-1,-1,-1,-1}
EDLS_UTC_006_007 | Returned == -1, Activated == -1, TimerPW | Returned == -1, Activated
== false, Temp == {5,7,-1,-1} / Input == -7, | == -1, TimerPW == false,
AlarmPW == false Temp == {5,7,-1,-1}
EDLS_UTC_006_008 | Returned == -1, Activated == -1, TimerPW | Returned == -1, Activated
== false, Temp == {5,7,-1,-1} / Input == 13, | == -1, TimerPW == false,
AlarmPW == false Temp == {5,7,-1,-1}
EDLS_UTC_006_009 | Returned == -1, Activated == -1, TimerPW | Returned == -1, Activated
== false, Temp == {5,7,-1,-1} / Input == 22, | == -1, TimerPW == false,

AlarmPW == true

Temp == {-1,-1,-1,-1}

EDLS_UTC_007_000

Returned == -1, TimerCS == false

Returned == 1, TimerCS ==

/ Input == true

EDLS_UTC _007_001 | Returned == -1, TimerCS == false Returned == -1, TimerCS ==
/ Input == -1 false

EDLS_UTC_008_000 | Returned == -1, TimerCS == true Returned == 1, TimerCS ==
/Input ==1 false
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EDLS_UTC_008_001

Returned == -1, TimerCS == true
/ Input == -1

Returned == -1, TimerCS ==

true

EDLS_UTC_009_000

Returned == -1 / AlarmCS == true

Returned ==1

EDLS_UTC_009_001

Returned == -1 / AlarmCS == false

Returned == -1

EDLS_UTC_010_000 | Returned == NULL, Temp == {-1,-1,-1,-1} / | Returned == NULL Temp
Input == 3, AlarmNB == false == {3, -1, -1, -1}

EDLS_UTC_010_001 | Returned == NULL, Temp == {3,-1,-1,-1} / | Returned == NULL Temp
Input == 7, AlarmNB == false =={3,7, -1, -1}

EDLS_UTC_010_002 | Returned == NULL, Temp == {3, 7,-1,-1}/ | Returned == NULL, Temp =

Input == -1, AlarmNB == false

3.7, -1, -1}

EDLS_UTC_010_003

Returned

NULL, Temp == {3, 7,-1,-1} /

Returned == NULL, Temp =

Input == 8, AlarmNB == true {-1, -1, -1, -1}
EDLS_UTC_010_004 | Returned == NULL, Temp == {3, 7,-1,-1} / | Returned == NULL, Temp =
Input == -1, AlarmNB == true {-1, -1, -1, -1}
EDLS_UTC_010_005 | Returned == NULL, Temp == {3, 7, 8,-1} / | Returned == {3, 7, 8, 2},
Input == 2, AlarmNB == false Temp = {-1, -1, -1, -1}
EDLS_UTC_010_006 | Returned == NULL, Temp == {3, 7, 8,-1} / | Returned == {3, 7, 8, 2},
Input == 2, AlarmNB == true Temp = {-1, -1, -1, -1}
EDLS_UTC_011_000 | Returned == -1/ Input == Returned ==
EDLS_UTC_011_001 | Returned == -1 / Input == -1 Returned == -1
EDLS_UTC _012_000 | Returned == -1 / AlarmNB == true Returned ==
EDLS_UTC_012_001 | Returned == -1 / AlarmNB == false Returned == -1
EDLS_UTC_013_000 | Returned == -1, Saved == {3,5,7,8} Returned ==
/ Input == {3,5,7,8}
EDLS_UTC_013_001 | Returned == -1, Saved == {3,5,7,8} Returned ==

/ Input == {4,2,1,8}

EDLS_UTC_013_002

Returned == -1, Saved == {3,5,7,8}
/ Input == NULL

Returned == -1

EDLS_UTC_014_000

Returned == -1 / AlarmNB == true

Returned == 3

EDLS_UTC_014_001

Returned == -1 / AlarmNB == false

Returned == -1

EDLS_UTC_015_000 | Returned == -1, TimerCvr == false Returned == 1, TimerCvr ==
/Input ==1 true

EDLS_UTC_015_001 | Returned == -1, TimerCvr == false Returned == -1, TimerCvr
/ Input == -1 == false

EDLS_UTC_016_000 | Returned == -1 Returned ==
/ Input == 1, AlarmCvr == true

EDLS_UTC _016_001 | Returned == -1 Returned ==
/ Input == -1, AlarmCvr == true
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EDLS_UTC_016_002

Returned == -1

/ Input == 1, AlarmCvr == false

Returned ==1

EDLS_UTC_016_003

Returned == -1

/ Input == -1, AlarmCvr == false

Returned == -1

EDLS_UTC_017_000 | Saved == {-1,-1,-1,-1}, PowerStatus == true Saved == {3,5,7,8},
/ Input == {3,5,7,8} PowerStatus == false
EDLS_UTC_017_001 | Saved == {-1,-1,-1,-1}, PowerStatus == true Saved == {-1,-1,-1,-1},
/ Input == NULL PowerStatus == true
EDLS_UTC_018_000 | Returned == -1 Returned == 3
/ AlarmPW == true
EDLS_UTC_018 001 | Returned == -1 Returned == -1
/ AlarmPW == false
EDLS_UTC_019_000 | Returned == -1 Returned ==
/Input ==1
EDLS_UTC_019_001 | Returned == -1 Returned == -1
/Input == -1
EDLS_UTC_020_000 | Returned == -1 Returned ==1
/ AlarmPW == true
EDLS_UTC_020_001 | Returned == -1 Returned == -1
/ AlarmPW == true
EDLS_UTC_021_000 | Returned == -1 Returned ==1
/ Lock == 1, Unlock =='1
EDLS_UTC_021_001 | Returned == -1 Returned ==
/ Lock == 1, Unlock == -1
EDLS_UTC _021_002 | Returned == -1 Returned ==
/ Lock == -1, Unlock ==
EDLS_UTC_021_003 | Returned == -1 Returned == -1
/ Lock == -1, Unlock == -1
EDLS_UTC_022_000 | Returned == -1 Returned ==1
/Input ==1
EDLS_UTC_022_001 | Returned == -1 Returned ==
/ Input == 2
EDLS_UTC_022_002 | Returned == -1 Returned ==
/ Input == 3
EDLS_UTC_022_003 | Returned == -1 Returned == -1
/ Input == -1
EDLS_UTC_023_000 | Returned == -1 Returned ==
/On ==1, Off ==
[HIAE 3] 000 Team 7
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EDLS_UTC_023_001 | Returned == -1 Returned ==
/On==1, Off == -1
EDLS_UTC_023_002 | Returned == -1 Returned == 0

/ On == -1, Off ==

EDLS_UTC_023_003

Returned == -1
/On == -1, Off == -1

Returned == -1

EDLS_UTC_024_000 | Triggered == -1 / Input == 0 Triggered == 0
EDLS_UTC_024_001 | Triggered == -1 / Input == 1 Triggered ==1
EDLS_UTC_024_002 | Triggered == -1 / Input == -1 Triggered == -1
EDLS_UTC_025_000 | Triggered == -1 / Input == Triggered ==

EDLS_UTC_025_001 | Triggered == -1 / Input == 2 Triggered == 2
EDLS_UTC_025_002 | Triggered == -1 / Input == 3 Triggered == 3
EDLS_UTC_025_003 | Triggered == -1 / Input == -1 Triggered == -1

EDLS_UTC_026_000

Triggered == -1, sq ==

Triggered == 0, sq == -1

/ Input ==
EDLS_UTC_026_001 | Triggered == -1, sq == Triggered == 1, sq == -1
/Input ==1
EDLS_UTC_026_002 | Triggered == -1, sq == Triggered == -1, sq ==
/ Input == -1
12 B, 02 AR, 12 R
2.2 Test items
<Test 2 : Test Design Identification>
Identifier Feature (Process ID in DFD) | Valid/Invalid value
EDLS_UTC_000_000 | 4.1 InputFilter Az d™e InputData = {-1, -1, -1, -1, -1}, sq
== -1, PowerStatus == false MEl, sq == 0,
Input = {0, 1, 2, 3, 4} &
EDLS_UTC_000_001 | 4.1 InputFilter A ™S InputData = {0, 1, 2, 3, 4}, sq ==

0, PowerStatus == false &Elf, sq==1 2=

EDLS_UTC_000_002 | 4.1 InputFilter A= 4™, InputData = {0, 1, 2, 3, 4}, sq ==
1, PowerStatus == false AtEf, sq == 2 &
EDLS_UTC_000_003 | 4.1 InputFilter Az d™S InputData = {0, 1, 2, 3, 4}, sq ==
2, PowerStatus == false AMEff, sq == 3
EDLS_UTC_000_004 | 4.1 InputFilter g dFe InputData = {0, 1, 2, 3, 4}, sq ==
3, PowerStatus == false ALEf], sq == 4 &
EDLS_UTC_000_005 | 4.1 InputFilter gz dde InputData = {-1, -1, -1, -1, -1}, sq
== 0, PowerStatus == false &Elf, sq == 0,
[HlAE Q2] 000 Team 8
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Input ={0, 1,2, 3,4 &=

EDLS_UTC_000_006

4.1 InputFilter

&S ™S InputData = {0, 1, 2, 3, 4}, sq ==
0, PowerStatus == false &El, sq == 0, Input
={0, 1,2 3, 4} g

EDLS_UTC_000_007

4.1 InputFilter

sq == -1, PowerStatus ==

EDLS_UTC_001_000

1.1.1 ClosedSensorReceiver

true AMEN, Input = {0, 1, 2, 3, 4} ¢H
10|
|

50| =015
EDLS_UTC_001_001 | 1.1.1 ClosedSensorReceiver | [1]2/810] E0{
EDLS_UTC_001_002 | 1.1.1 ClosedSensorReceiver [-1]12 80| 502
EDLS_UTC_001_003 | 1.1.1 ClosedSensorReceiver 2150 =02
EDLS_UTC_001_004 | 1.1.1 ClosedSensorReceiver [-3]2 80| 50
EDLS_UTC_002_000 | 1.2 ManualLockReceiver [112s0] S0
EDLS_UTC_002_001 | 1.2 ManualLockReceiver [-1]g420] S0
EDLS_UTC_002_002 | 1.2 ManualLockReceiver BlgsEo] 502
EDLS_UTC_002_003 | 1.2 ManualLockReceiver [-5]2 80| E0{=2
EDLS_UTC_003_000 | 1.3 KeyReceiver 11230 =02
EDLS_UTC_003_001 | 1.3 KeyReceiver [-1]1¢=0] E0{2
EDLS_UTC_003_002 | 1.3 KeyReceiver 1o 02
EDLS_UTC_003_003 | 1.3 KeyReceiver [-21¥ 20| 5013
EDLS_UTC_004_000 | 1.4.1 NumberButtonReceiver | [0]2 20| S0
EDLS_UTC_004_001 | 1.4.1 NumberButtonReceiver | [5]2/240| S0
EDLS_UTC_004_002 | 1.4.1 NumberButtonReceiver | [9]2/210| S0
EDLS_UTC_004_003 | 1.4.1 NumberButtonReceiver | [-1]2 20| E0{2
EDLS_UTC_004_004 | 1.4.1 NumberButtonReceiver | [-7]2 20| E0{&
EDLS_UTC_004_005 | 1.4.1 NumberButtonReceiver | [13]2 20| E0{2
EDLS_UTC_005_000 | 1.5.1 CoverReceiver o]0 =02
EDLS_UTC_005_001 | 1.5.1 CoverReceiver [1]1=80] =0
EDLS_UTC_005_002 | 1.5.1 CoverReceiver [-1]2180] =0 &
EDLS_UTC_005_003 | 1.5.1 CoverReceiver [BIYE0| E0Z
EDLS_UTC_005_004 | 1.5.1 CoverReceiver [-12]¢=30] S0

EDLS_UTC_006_000

4.2 PasswordSetup

Temp == {_11_11_11_1}é>|-EHI

AlarmPW == false, [5]Q 20| S0{&

EDLS_UTC_006_001

4.2 PasswordSetup

Temp == {5,-1,-1,-1} A Ef,

AlarmPW == false, [7]2/ 20| E0{&

EDLS_UTC_006_002

4.2 PasswordSetup

Temp == {5,7,-1,-1} A EY,
AlarmPW == false, [-1]2/20| E0{&

EDLS_UTC_006_003

4.2 PasswordSetup

Temp == {5,7,-1,-1}AtEf,

AlarmPW == true, [9]2/210] S0{2
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EDLS_UTC_006_004

4.2 PasswordSetup

Temp == {5,7,-1,-1}A¢El,

AlarmPW == true, [-1]2/210] S0|&

EDLS_UTC_006_005

4.2 PasswordSetup

Temp == {5,7,9,-1}AtEH,

AlarmPW == false, [2]2/ 20| E0{&

EDLS_UTC_006_006

4.2 PasswordSetup

Temp == {5,7,9,-1} A EH,

AlarmPW == true, [2]2/210] 50|

EDLS_UTC_006_007

4.2 PasswordSetup

Temp == {5,7,—1,—1}gEH,

AlarmPW == false, [-7]Q 20| S0{&

EDLS_UTC_006_008

4.2 PasswordSetup

Temp == {57,-1,-1}A}Ef,
AlarmPW == false, [13]2 &0| 50|

EDLS_UTC_006_009

4.2 PasswordSetup

Temp == {57,-1,-1}AEf,
AlarmPW == true, [22]Q20] S0/

EDLS_UTC_007_000

1.1.2 ClosedSensorClosed

11280 o=

EDLS_UTC_007_001

1.1.2 ClosedSensorClosed

[[11Y=0] S05

EDLS_UTC_008_000

1.1.3 ClosedSensorOpened

11230 S0 =

EDLS_UTC_008_001

1.1.3 ClosedSensorOpened

[[11Y=0] S05

EDLS_UTC_009_000

1.1.4 ClosedSensorLock

[true] Y= 0| S0{&

EDLS_UTC_009_001

1.1.4 ClosedSensorLock

[false] @ 30| =0 &

EDLS_UTC_010_000

1.4.2 NumberRecord

Temp == {-1,-1,-1,-1}ALEf,

AlarmNB == false, [3]2 20| S0

EDLS_UTC_010_001

1.4.2 NumberRecord

Temp == {3,-1,-1,-1}AFEf,

AlarmNB == false, [7]2 20| E0|&

EDLS_UTC_010_002

1.4.2 NumberRecord

Temp == {3, 7,-1,-1}AEY,

AlarmNB == false, [-1]Q/210| S0{&

EDLS_UTC_010_003

1.4.2 NumberRecord

Temp == {3, 7,-1,-1}AEY,

AlarmNB == true, [8]Q 20| E0|&

EDLS_UTC_010_004

1.4.2 NumberRecord

Temp == {31 71_11_1}é>|-EHI

AlarmNB == true, [-1]@/20] E0j&

EDLS_UTC_010_005

1.4.2 NumberRecord

Temp == {31 71 81_1}é>I‘EHI

AlarmNB == false, [2]2&0| S0

EDLS_UTC_010_006

1.4.2 NumberRecord

Temp == {3, 7, 8,-1}&Ef,

AlarmNB == true, [2]2 20| E0{&

EDLS_UTC_011_000

1.4.3 BacklightOn

OIYE0] 0=

EDLS_UTC_011_001

1.4.3 BacklightOn

(1230 S0Z

EDLS_UTC_012_000

1.4.4 BacklightOff

[true] =0 S0{&

EDLS_UTC_012_001

1.4.4 BacklightOff

[false] 2 H 0| S0{&=

EDLS_UTC_013_000

1.4.5 NumberCheck

Saved == {3,5,7,8 }AE}f, Input == {3,5,7,8} | &

EDLS_UTC_013_001

1.4.5 NumberCheck

Saved == {3,5,7,8,}AE}, Input == {4,2,1,8} 2 =

[HAE 3]
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EDLS_UTC_013_002

1.4.5 NumberCheck

Saved == {3,5,7,8 }AElf, Input == NULLY =

EDLS_UTC_014_000

1.4.6 NumberTimeover

[true]2 0| =0
(o]

EDLS_UTC_014_001

1.4.6 NumberTimeover

EDLS_UTC_015_000 | 1.5.2 LightOn 10| 50{F
EDLS_UTC_015_001 | 1.5.2 LightOn [-1]230] S0&
EDLS_UTC_016_000 | 1.5.3 LightOff Alarm(Cvr) == true, [1]2/20] E0{&
EDLS_UTC_016_001 | 1.5.3 LightOff Alarm(Cvr) == true, [-1]2 30| E0{2
EDLS_UTC_016_002 | 1.5.3 LightOff Alarm(Cvr) == false, [11/ 80| E0{ =2

EDLS_UTC_016_003

1.5.3 LightOff

EDLS_UTC_017_000

4.3 PasswordSave

Input == {3,5,7,8}2 =

EDLS_UTC_017_001

4.3 PasswordSave

Input == NULLY =

EDLS_UTC_018_000

4.4 PasswordTimeover

[true]Y¥= 0| S0{&

EDLS_UTC_018_001

4.4 PasswordTimeover

[false] 2@ 30| S0{&

EDLS_UTC_019_000

4.5 BacklightOn(PW)

11280 o=

EDLS_UTC_019_001

4.5 BacklightOn(PW)

Y20l 5018

EDLS_UTC_020_000

4.6 BacklightOff(PW)

[true] Q= 0| S0{&

EDLS_UTC_020_001

4.6 BacklightOff(PW)

[false] 2@ 0] S0{&

EDLS_UTC_021_000

1.6 DetermineLock/Unlock

Lock == 1, Unlock == 19/20| E0|&2

EDLS_UTC_021_001

1.6 DetermineLock/Unlock

EDLS_UTC_021_002

1.6 DetermineLock/Unlock

EDLS_UTC_021_003

1.6 DeterminelLock/Unlock

Lock == 1, Unlock == -19/&0| E0|&
Lock == -1, Unlock == 19/&0| E0|&
Lock == -1, Unlock == -1 80| E0{&

EDLS_UTC_022_000

1.7 DetermineAlert

11280 o=

EDLS_UTC_022_001

1.7 DetermineAlert

EDLS_UTC_022_002

1.7 DetermineAlert

w
)
I

IS}
In

mfo

EDLS_UTC_022_003

1.7 DetermineAlert

EDLS_UTC_023_000

1.8 DetermineBacklight

EDLS_UTC_023_001

1.8 DetermineBacklight

EDLS_UTC_023_002

1.8 DetermineBacklight

EDLS_UTC_023_003

1.8 DetermineBacklight

EDLS_UTC_024_000

2.1 Lock/UnlockControl

010 S0ig

EDLS_UTC_024_001
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